SEERS

JWWA B 137 )k EH SEZRH

SAJ/SATH

BAKER

[EOR25~75mmlE R E1E%
094 )ik (FCD450-10) W THRNE LRF R A EEE

=JWWA B 137#48(05&E

BUICKBRRRERFH T,
([SHIDLTVERT,
Dzaa_o

it (3

R %
IF O 1
H/ I\ .
55 F3 i ¢

= xE
i 18!
EREND:
FREM R -
FEERIGER

N
[m)

X

(_|.

E

27&(7.5K) -+
27&(7.5K) -
2%&(7.5K) -+

JWWA B 137 x4%& (16K) (FEHE
:25mm~200mm

B TOKBK. Z DAt
D W E TR 48
2% (7.5K) . 3F& (10K) . 4%& (16K)

0.75MPa. 37 (10K) -+~
1.75MPa. 3F&(10K) ---
0.75MPa. 37 (10K) -+

EMIAER

1.0MPa. 41& (16K) -+
2.3MPa. 4% (16K) -+
1.0MPa. 4% (16K) -+

Ok0
-
=t

EUIRERIAE
BAfTE R
CADT—%

1.6MPa
2.4MPa
1.76MPa

5 &

- DVINTNREEHBE CIFUR25~75mmiF R E1Es

(L—E-ii@'z\-\jo

- IANEEDIRFVEIEM AR ERZ U S5OREZZE T,

- MIVNERF AT VUVRRTCRFERDZROTY,

- M—=)LOWIGF AT VU R CRISTRER LE#AERT T T,
BIEPBZRBOVIUN—FATBHITTNED,

T a3y

*Re&H/N—(13-75mm) . O 7 UN—IR—)L3v 7 (13-25mm) . £/I588FF.
RERAHET13mm(R3/4). 20mm (R1). 4% (16K) (25mm) . 57& (20K) (25-75mmdDd») R

& -

75mm

w224 (75VCWH)

=
2EERHF SAJ/SATH:
JWWA B 137 KERASEZRH
%# $220
_@n | gn
o @
1 o)F m‘a"ll i 1) 3 ( ‘
9 g l 2 [dl ] % J 5% *7
_ z 161 b @ ﬁ’gj\/
é ! \\ ‘() 8 OPEEN Z3ulil $255 (FUZE100)
| Go 2 i £ g
. (1& T = i 7] | |
R1 1/4 —— “ gg S % l T U] /
S 7 - | HH il
it —— & Y ©
$d 0% E=153 & t (&g
i = \
: ==l T T
s | S
25mm 100~150mm
#HBmY X+ (FUE25mm)
1. 7798 FCD450-10 8. INEUFLITEE SBR
2. 5\Jc FCD450-10 9. RS AL FTEE SBR
3. AN— FCD450-10 0. HRT wh SBR
4. JO—hFE FATRFT A b 1. éﬁT)bl\:Fffﬁ SUS304
5. BEEFE _ TRERE 2. NAN)UNEEE SUS304
6. NEFLFFERZ TRYERE 3. =)L w7 Gasswmimss1-ae) SCS13
7. J0—hREEA =%l 4.5 FCD450-10
EEES -FETE euom SrepagmccrRscan
DEES B FOR FOEH L/ B 8 szER
mm BERRILMY A X (F) mm mm kg
A20025835 RIAHE 25 7.5K R1 1/4 218 130 5
A20025835 REIAIHE 25 10K R1 1/4 218 130 5
A20025835 TSI 25 7.5K M16x70(4) 224 211 10
A20025835 oI 25 10K M16Xx65(8) 224 185 9
A62075101 TSI 75 7.5K M16x70(4) 220 220 14
A62075101 oI 75 10K M16Xx90(8) ¥¢ 220 220 13
A61100121 PP 100 7.5K M16x70(4) 320 255 25
A61100161 2% 100 10K M16Xx90(8) ¥¢ 320 255 24
A61150121 PRI 150 7.5K M16X75(6) 435 350 63
A61150161 %I 150 10K M20x105(8) ¥¢ 435 350 62
A71200111 IS5V 200 7.5K M16x100(8) ¥¢ 620 470 120
A71200161 TSVITE 200 10K M20x105(12) ¥¢ 635 470 120
XEANIVNIBFRED ISV IBESPEEDEMH, IR Y hOERECIIELRIFT,
FHMRURILNTERLUT T W,
FTvav

—_— L

2o

SHIMIZU KOGYO
SINCE 1933

HZAOTES SAJZE-9

REEH/N— (13~25mmA) (75mmFAl) Ov7UN—=m—=)LdvT [ELRERST
(13~25mmHd)
A4t Ti5 T529-1151 HEBEEZRGREI2S0E MM TEL 0749-25-2550 FAX 0749-28-8015
memBER OF THE AVK GRouP  aimesispy 1030013 ﬁ?‘i%ﬂ¢9&lzém(ztﬁAﬁzm1»5-13»sF TEL 03-3662-4266 FAX 03-5645-5356
II‘I%H'\_‘ ‘I KFREZER T550-0013 ABRAFABRHFEXHETA-12-8 TEL 06-6536-6430 FAX 0749-28-8015
= [LEE¥M T730-0843 LEBRLEHHRXMAKRE1-4 TEL 082-234-8130 FAX 0749-28-8015

Weh page hitps://www.shimizukogyo.co.jp




